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Warmup 11/(# of letters in “six” - 2) THIS WEEK

***Please look inside your desk and clean it out!!!***
***Make sure there is a whiteboard, marker, and eraser in your desk.*** TODAY: More equations with variables on both sides

TUESDAY: Distributive property equations
WEDNESDAY: Story Problems
THURSDAY: Equations Quiz

Solve the equations:
-4x + 8 =2x-40

-4x + 2x + 8 = -40

FIRST PART OF CLASS: Equations Worksheet #1-13

I will show you the answers for #1-13, but none of the work.

x=3 a=32 n=3
For all problems you got incorrect, wiite the correct answer next to it in 13 1
different color. X=—or4- a=-5 n=-10
Use this fime fo do CORRECTIONS on your problems. Do the corrections on 3 3 _27 7 _13 1
the BACK of the worksheet and in a different color. You know wha fhe x=6é a=Jror2.s n=--oré6;
answer should be, 5o fry o figure out how fo get that answer.
*=4If you successfully figure out how fo correct a problem, you will be able x =45 (check)
to count it as “correct” when you officially put your grade on it*** (

check) n=15

If you did not miss any o you finish your corrections very quickly, you may
move on to the second half of the worksheet. However, it would be
AWESOME if you are also wiling to help the people at your group who are
struggling with your corrections.

5 Rational vs. Irational (1.1)
6 What is a function?
7
8

w/ Variables on Both Sides  '*

Function Notation: f(x) Objective:
Worksheet: Graphing Functions Lbleclive;

9 Linear vs. Nonlinear Functions Solve equations with variables on both
Slope sides

11 Graphing Linear Functions - Looking for Patterns
12 Slope-Intercept Form

13 Slope-Intercept Story Problems

14 1 and 2 Step Equations

15 Equations w/ Variables on Both Sides

Understand the difference with when
they're on the same side and when
they're not
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Some for your notes:

2 variable terms on the SAME SIDE:
Combine like terms

SOLVE AND CHECK:
-3x+31=2x+46

2 variable terms on OPPOSITE SIDES:

“Get rid" of one of them: add or subtract the x's
on both sides the same way you do with regular
numbers

Some for your noftes...

SOLVE
5x+10 —3x =12 — 4x — 44

—32+2x=2x+3
3 3

Whiteboards Whiteboards

8x+7-5x=11+x X—11=-3x+7

x=9

Early finishers: Check your Early finishers: Check your
answer! answer!
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Whiteboards
2x+ 7 =5x+35
B 28 9 1
X = 3 or 3

Early finishers: Check your
answer!

Whiteboards

/X +3x=27=x-2
x=-5

Early finishers: Check your answer!

Whiteboards

15—x=-x—1
6 6
x =48

Early finishers: Check your
answer!

HOMEWORK

Finish Equations Workhseet




